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£ fa1] R - MR BifiT S i & #5 =
BRI 13, 397, 941
BREZ 13, 397, 941
BERE AR 13, 397, 941
EEAHE 13,002, 550
FEtEtE 140, 050
1 E&EtEtE 1.00 140, 050 140, 050
=
BRI - BHE 1,175, 050
2 BHINEEE 1.00 368, 000 368, 000
=
3 MREHREDREER 1.00 355, 700 355, 700
=
4 HEBEEBESHOBRTEER 1.00 451, 350 451, 350
=
BHE 1 6, 323, 200
5 M - BASHER 4.00 212, 950 851, 800
s
6 TEEHEEBRN WE g 1.00 789, 800 789, 800
=
7 BREEER X DS 1.00 2,691, 800 2,691, 800
=
8 BERAEEET 1.00 446, 400 446, 400
s
9 B RIKIEDHIE 3.00 261, 900 785, 700
r—2
10 #EFEEORKRE 1.00 757, 700 757,700
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£ fz R - MR BifT & B @ & % =
HEER X D 529, 650
1 hEEER X0 3.00 176, 550 529, 650
r—2
REMDEE 1,123, 200
12 kiERERUVEESIREORTEEDR 3.00 374, 400 1,123, 200
r—2
EEFETORE 1,237, 350
13 MEHREET 3.00 121, 450 364, 350
r—2
14 METEETE 3.00 128, 300 384, 900
r—Xx
15 {8 &M e - K5t 3.00 162, 700 488, 100
r—x
REERK 337,500
16 HEERL 6.00 56, 250 337, 500
®
BERERK 1,247, 250
17 EFER 3.00 415, 750 1,247, 250
=
BEH 225, 900
18 EHTRREER 1.00 225, 900 225, 900
=
e - | 469, 600
19 i - & 4.00 117, 400 469, 600
=
BE 193, 800
20 BE 1.00 193, 800 193, 800
=
EERE 395, 391
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EHRARE 123, 391

21 EHRARE 1.00 123, 391 123, 391
=

RXERRRE 230, 000

22 XBEHERR 1.00 230, 000 230, 000
=

BIXEREE 42,000

23 fETREREE 1.00 42,000 42,000
=
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BRI 13,002, 550 + 395, 391 13,397, 941
EEAGE 13,002, 550
BE#RE 395, 391
T DR 13,002,550 x 53.85% ( 35% + (1 — 35%) ) 7,001,873
BRI 13,397,941 + 7,001, 873 20,399, 814
—REEES 20,399,814 x 53.85% (35% + (1 — 35%) ) — 5113 10, 980, 186
KBS 20,399,814 + 10, 980, 186 31,380, 000
HETREALE 31,380,000 x 10.00% 3,138,000
EBEREN 31,380,000 + 3,138,000 34,518,000
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B EEHETE
2 b g - BIRTE By = il ) W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 0.50 45, 300. 00 22,650
& Hi 1YE%HeH - 1.00K 140, 050. 00 140, 050
&5 :2
ZFF . ERINEEE
2 b g - BIRTE By = il ) W E " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 1.50 35, 600. 00 53, 400
g
A 2.50 31, 600. 00 79, 000
& B 1E%HeH - 1.00K 368, 000. 00 368, 000
&5 :3
£ MHEEHREDHREEH
2 b g - BIRTE By = il ) W = " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 2.50 35, 600. 00 89, 000
& Hi 1E%HeH - 1.00K 355, 700. 00 355, 700
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2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 3.00 35, 600. 00 106, 800
& Hi 1YE%HeH - 1.00K 451, 350. 00 451, 350
F5 .5
&% FIA - BAKHERE 1HhmZ Y
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.50 45, 300. 00 67,950
& Hi 1EZRED - 1. 00405 212, 950. 00 212,950
&S .6
£ T EEREEES HELTE 14y
2 b g - BIRTE By = B Ol ® # " =
FEHRAR (F%ET)
A 2.00 62, 200. 00 124, 400
AR (A)
A 4.00 55, 200. 00 220, 800
AR (C)
A 4.50 35, 600. 00 160, 200
g
A 9.00 31, 600. 00 284, 400
& B 1E%HeH - 1.00K 789, 800. 00 789, 800
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2 b g - BIRTE By = B ® W = " =
AR (A)
A 9.00 55, 200. 00 496, 800
HEm (B)
A 18. 00 45, 300. 00 815, 400
AR (C)
A 21.00 35, 600. 00 747, 600
g
A 20.00 31, 600. 00 632, 000
& B 1YE%HeH - 1.00K 2,691, 800. 00 2,691, 800
&5 :8
2% BEAEEETE 1HhmZ Y
2 b g - BIRTE By = B ® W E " =
F{EHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 3.00 35, 600. 00 106, 800
& Hi 1EZRED - 1. 00405 446, 400. 00 446, 400
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& HEGERRIEDFIE 1r—24Y
2 b g - BIRTE By = BHO(f ) # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 1.50 35, 600. 00 53, 400
g
A 1.00 31, 600. 00 31, 600
& B YEZEREDN 1,005 —R 261, 900. 00 261,900
&5 :10
& HEBEEEORE 14y
2 b g - BIRTE By = BHO(f ) # " =
F{EHRAR (F%ET)
A 2.00 62, 200. 00 124, 400
AR (A)
A 3.50 55, 200. 00 193, 200
HEm (B)
A 5.00 45, 300. 00 226, 500
AR (C)
A 6. 00 35, 600. 00 213, 600
& Hi 1E%HeH - 1.00K 757, 700. 00 757, 700
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£ BB EREX O 1r—24Y
2 b g - BIRTE By = BHoO(f ) # " =
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 1.50 35, 600. 00 53, 400
& Hi YEZEREDN 1,005 —R 176, 550. 00 176, 550
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£ KiERERUVESHKEOREEDRE 1r—24Y
2 b g - BIRTE By = BHO(f ) # " =
FEHRAR (F%ET)
A 0.50 62, 200. 00 31,100
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 2.50 35, 600. 00 89, 000
g
A 2.00 31, 600. 00 63, 200
& B YEZEREDN 1,005 —R 374, 400. 00 374, 400
&5 :13
2% MEHEETE 1r—24Y
2 b g - BIRTE By = BHO(f ) # " =
HEm (B)
A 0.50 45, 300. 00 22,650
AR (C)
A 1.00 35, 600. 00 35, 600
g
A 2.00 31, 600. 00 63, 200
& B YEZEREDN 1,005 —R 121, 450. 00 121, 450
&5 :14
2% METEBETE 1r—24Y
2 b g - BIRTE By = BHoO(f ) # " =
HEm (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
g
A 1.50 31, 600. 00 47, 400
& B YEZEREDN 1,005 —R 128, 300. 00 128, 300
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&S .15
B AT - R E 15r—2%1
£ 5 L - BIRTiE BAf H = B & % = " =
FAEHED (F%E)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45, 300. 00 45, 300
& it E2E:H - 1.005—R 162, 700. 00 162, 700
=16
& HmEER 1Y
£ 5 L - IRTiE BAf H = B & # = " =
HER (B)
A 0.50 45, 300. 00 22, 650
AR (C)
A 0.50 35, 600. 00 17, 800
Bifrg
A 0.50 31, 600. 00 15, 800
& i fE%8ED ;1. 008 56, 250. 00 56, 250
&S .17
& BRER HEED
£ 5 L - BIRTiE BAf H = B & % = " =
FAEHED (F%E)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 2.00 35, 600. 00 71, 200
& it %82 ;0 1.00@ 415, 750. 00 415, 750
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£ EHTERBEEER 1LY
2 b g - BIRTE BT o = B O ® W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi 1YE%HeH - 1.00K 225, 900. 00 225,900
&= 19
2F5  HEE - |mE HEED)
2 b g - BIRTE BT H = B O ® W E " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
E5:2
2 BE 1LY
2 b g - BIRTE BT H = B O ® W E " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 1.00 55, 200. 00 55,200
e (B)
A 1.00 45, 300. 00 45, 300
& Hi 1E%Heh - 1.00K 193, 800. 00 193, 800
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&5 21
&% EHARE 1LY
2 b g - BIRTE BT o = B O ® W = " =
EXERARE
= 1.00 123, 391.00 123, 391
& Hi 1YE%HeRH 1,00 123, 391.00 123, 391
&5 .22
2% EBHRRA 1LY
2 b g - BIRTE BT H = B O ® W E " =
EBHRERERE
= 1.00 230, 000. 00 230, 000
& Hi 1E%HeH - 1.00K 230, 000. 00 230, 000
&5 .23
&% MIERAEE XY
2 b g - BIRTE BT H = B O ® W E " =
E-RYUTREE
I 1.00 42,000. 00 42,000
& Hi 1E%HeH - 1.00K 42,000. 00 42,000




